Appendix

Experiment 2 Results

Acceptance of Test Items by Condition Experiment 3 Stimuli
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Selected Regression Models

Experiment 1 Place Contrasts: Novel Items (Novel Conforming and Novel Nonconforming)
Dependent variable: response (accept or reject)
Fixed effects: Conformity, Condition, and their interaction
Random effects: intercepts for subject and item

Coefficient p
Intercept -0.493 | 0.013%*
Conformity = conforming (vs. nonconforming) 1.061 | <0.001***
Condition = WordFinalContrast (vs. WordInitial Contrast) -0.065 | 0.814
Conformity x Condition -0.106 | 0.727

Experiment 3 Onset Complexity: Novel Items (Novel Conforming and Novel Nonconforming)
Dependent variable: response (accept or reject)
Fixed effects: Conformity, Condition, and their interaction
Random effects: intercepts for subject and item

Coefficient p
Intercept -0.506 | 0.087
Conformity = conforming (vs. nonconforming) 1.793 | <0.001***
Condition = CC (vs. C) 0.644 | 0.115
Conformity x Condition -0.128 | 0.791




